Pressure (atm)

N

N

path |44 Q AU AS
P-constant PAV me, AT mec, AT me, In (1) T;)
V-constant 0 me, AT me, AT me, In (T4 /T;)
T-constant nRT'In(Vy/V;) AU+ W 0 nRIn (Vy/V;)
S-constant me, AT 0 me, AT 0

line 1P+ P)AV AU+ W mc,AT  me,In (Vy/Vi) 4+ me, In (Pr/P)

cycle area area 0 0

Note: nRAT = PyV; — BV,
p=c+ R/p U:ngT/u o = fR/21

PV? = constant

TV~ = constant

Volume (m"3)

2
yo T2 H=U+PV
Cy f

T T T T T T T T T T T T T T T T T T T T T T T 6
- - ~ 4

£

&

L | g
L i T,
1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 o

0 5 1.0 15 20 25

P'™T7 = constant

G=H-TS
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